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1 Question Description Who is an overseas citizen of India?

1) The person registered as Overseas Citizen of India under the Citizenship Act 1955

ii) A foreign national who was eligible to become a citizen of India on 26th January 1950
iii) He was citizen of India on or at any time after 26th January 1950

iv) He belonged to a territory that became part of India after 15th August 1947

Select the correct answer using the code given below

A 1, ii and iii

B only i

c i, iii and iv

D All of these

E None of the above
Correct Answer D

Marks 1



Question Description Which of the following chapters of the Indian Penal Code contains the provisions regarding offences relating to contempt of the

lawful authority of Public Servants?

A Chapter X

B Chapter IX

c Chapter XA

D Chapter IXA

E None of the above
Correct Answer A

Marks 1



3

Question Description

Correct Answer

Marks

The Correct statements about Zero Hour include

1) It is the first hour of every sitting in both the Houses of Parliament

i1) It is mentioned in the rules of business of the Houses of Parliament

ii1) During this time, matters are raised without any prior notice

iv) It is the time immediately following the question hour in both the Houses of Parliament
v) It is an Indian Innovation in parliamentary procedure since 1964

Which of the following statements given above is/are correct?
i1, 111 and 1v

1, i1, and v

i1, iv and v

None of the above



Question Description All civil courts have jurisdiction to try

A All suits of a civil nature

B All suits of a civil nature except suits of which their cognizance is expressly not barred

c All suits of a civil nature except suits of which their cognizance is impliedly not barred

D All suits of a civil nature except suits the cognizance of which is expressly or impliedly barred
E None of the above

Correct Answer D

Marks 1



5

Question Description

Correct Answer

Marks

Which of the following are listed as Directive Principles in our Constitution?

1) Complete freedom in the economic field for the interest of consumers and producers

i1) Securing of an economic system of the country so as to prevent concentration of wealth and means of production
ii1) To ensure decent standard of living and facilities of leisure for all workers

iv) To protect and improve the environment and to safeguard forests and wildlife

Select the correct answer using the codes given below

ii and iii
i1 and iv
il and iv

None of the above



Question Description Section 109 of Indian Evidence Act deals with the burden of proof as to relationship in the case of ------

A Partners

B Landlord and Tenant
c Principal and Agent
D All of the above

E None of the above
Correct Answer D

Marks 1



7 Question Description Which of the following is/are correct regarding the preamble of Indian Constitution?
1) Preamble is non-justiciable i.e its provisions are not enforceable in courts of law
ii) The Preamble to the Indian Constitution is based on the objective resolution drafted and moved by Dr. B.R.Ambedkar
ii1) It secures political justice to all its citizens
iv) The idea of preamble borrowed from the Constitution of USA
Select the correct answer using the codes given below

A i and ii

B ii and iii

(o iii and iv

D 1, iii and iv

E None of the above
Correct Answer D

Marks 1



Question Description Which of the following provisions of the Code of Civil Procedure 1908 mandates that all objections on the ground of non-joinder

or misjoinder of parties shall be taken at the earliest possible opportunity and in all cases where issues are settled

A Order 1 Rule 10
B Order 1 Rule 11

c Order 1 Rule 12
D Order 1 Rule 13

E None of the above
Correct Answer D

Marks 1

Question Description Section 300 of the Indian Penal Code speaks of ---------- exceptions to culpable homicide amounting to murder
A 5

B 4

(¢ 3

D 2

E None of the above
Correct Answer A

Marks 1



10 Question Description Chairman of other Member of CAT who has tendered which resignation, continue to hold office until the expiry of months
from the date of receipt of such notice or until a person duly appointed as his successor enters upon his office or until the expiry of
his term of office, whichever is the earliest?

A two months

B six months

c three months

D one month

E None of the above
Correct Answer C

Marks 1



11 Question Description Complaint may relate to

A A cognizable offence

B A non-cognizable offence

c Both (a) and (b)

D Must be for a non-cognizable offence as the police has no power to investigate such an offence
E None of the above

Correct Answer C

Marks 1



12 Question Description Consider the following statements
Assertion (A) Article 1 describes India as a Union of States rather than federation of States
Reason (R) Indian Federation is not the result of an agreement among the states
Select the correct answer using the codes below

A Both A and R true and R is the correct explanation of A

B Both A and R true but R is not the correct explanation of A
c A is true and R is false

D A'is false and R is true

E None of the above

Correct Answer A

Marks 1



13 Question Description Limitation period is mentioned in which section of Administrative Tribunals Act, 1985?

A Section 21
B Section 25
c Section 17
D Section 13
E None of the above
Correct Answer A
Marks 1
14 Question Description Which of the following principle is not true regarding pleadings?
A Pleading should state law
B Only material facts shall be stated
c Pleading should not state evidence
D Facts should be stated in concise form
E None of the above
Correct Answer A

Marks 1



15 Question Description A phrase which does not find a place in Section 304(A) IPC is

A The death of any person
B Rash or negligent act
c Rash and negligent act
D Not amounting to culpable homicide
E None of the above
Correct Answer C
Marks 1
16 Question Description Which of the following sections of the Indian Evidence Act deals with relevancy of judgements of courts?
A Sec.40-44
B Sec.45-51
c Sec.52-55
D Sec.56-58
E None of the above
Correct Answer A

Marks 1



17" Question Description A person shall not be qualified for appointment as the Chairman of the Central Administrative Tribunal unless he is, or has been?

A Judge of a High Court
B Judge of a Supreme Court
c Judge of a First Class Magistrate Court
D Any of the above
E None of the above
Correct Answer A
Marks 1
18 Question Description Qualifications for appointment as Chairman, Vice-Chairman and other members of Central Administrative Tribunal is mentioned in

which section of Administrative Tribunal Act 1985?

A Section 4

B Section 5

c Section 6

D Section 7

E None of the above
Correct Answer C

Marks 1



19 Question Description Which of the following is true and correct regarding criminal conspiracy?

A For the offence of conspiracy some kind of physical manifestation of agreement is required to be established
B The express agreement need not be proved
c A conspiracy is a continuing offence which continues to subsist till it is executed or rescinded or frustrated by choice of necessity.

During its subsistence whenever any one of the conspirators does an act or series of acts, he would be held guilty under section
120B of the Indian Penal Code.

D All of the above
E None of the above
Correct Answer D

Marks 1



20 Question Description Word, gesture or act intended to insult the modesty of a woman is punishable under --------- of the Indian Penal Code

A Sec.506
B Sec.507
c Sec.508
D Sec.509
E None of the above
Correct Answer D
Marks 1
21 Question Description Ulterior intend is called
A Intention
B Recklessness
c Motive
D Negligence
E None of the above
Correct Answer C

Marks 1



22 Question Description Which of the following is a wrong statement? Under Sec.164 Cr.P.C the Magistrate

A Shall explain to the accused that he is not bound to make a confession

B Shall warn the accused that the confession he may make may be used as evidence against him

c Shall record the confession whether it is voluntary or not

D Shall not authorize detention of the accused in police custody if he is not willing to make a confession.
E None of the above

Correct Answer C

Marks 1



23 Question Description Which of the following Executive functions of Council of Ministers are correct?
1) it formulates the Executive Policy of the country
i1) It coordinates the policies programmes and activities of various departments
ii1) It has an important role in filling up various political, legislative and ambassadorial assignments
iv) It has an important role in election of the President
Select the correct answer using the codes given below

A ii, iii and iv

B i, il and iii

c i, 11 and iv

D All of these

E None of the above
Correct Answer B

Marks 1



24 Question Description Sec.164, of the Code of Criminal Procedure contains a special procedure relating to recording of confession and statements. In view

of the provision which is the correct proposition

A Any Metropolitan or Judicial Magistrate may, whether has jurisdiction or not in the case , can record confession or statement made

in the course of an investigation

B Confession can also be recorded by a Police Officer on whom any power of a Magistrate has been conferred

c The recording of statement can only be done by the Magistrate who has the jurisdiction

D Any Magistrate may whether has jurisdiction or not in the case can record confession or statement made in the course of an
investigation

E None of the above

Correct Answer A

Marks 1



25 Question Description An inference of fact or law drawn from other known or proved fact is called -------

A Circumstantial Evidence
B Presumption
c Fact in issue
D All of the above
E None of the above
Correct Answer B
Marks 1
26 Question Description The special summons under Sec.206 of the Code of Criminal Procedure may be issued in regard to an offence which can be triable
as a
A Summons case only
B Summary trial only
c Summons or Warrant case
D Warrant case only
E None of the above
Correct Answer B

Marks 1



27 Question Description Which of the following rights have been mentioned outside Part I1I of the Indian Constitution?
1) No person shall be deprived of his property, except by authority of law
i1) Freedom of trade commerce and intercourse
ii1) Elections to the house of the people and the legislative assemblies of states to be on the basis of adult suffrage
Select the correct answer using the codes given below

A i, and ii

B ii and iii

c 1, and iii

D All of these

E None of the above
Correct Answer D

Marks 1



28 Question Description Which of the following chapters of the Indian Penal Code deals with Punishments?

A Chapter II
B Chapter III
c Chapter IV
D Chapter V
E None of the above
Correct Answer B
Marks 1
29 Question Description In which of the following cases is the statement of relevant fact by a person who is dead or cannot be found relevant?
A If it is against the interest of the maker
B If it gives opinion as to public right or custom or matters of general interests
c If it relates to existence of a relationship
D All of the above
E None of the above
Correct Answer D

Marks 1



30 Question Description In which of the following cases, the court may dispose the suit in the first hearing?
A Where at the first hearing of the suit it appears that the parties are not at issue on any question of law or fact

B Where there are more defendants than one and any one of the defendants is not at issue with the plaintiff on any question of law or
fact, the court may at once pronounce judgement for or against such defendant

c Where the parties are at issue on some question of law or fact and issues have been frame by the court as herein before provided, if
the court is satisfied that no further argument or evidence than the parties can at once adduce is required upon such of the issues as

may be sufficient for the decision of the suit

D Any of the above situations
E None of the above
Correct Answer D

Marks 1



31 Comprehension

Question Description

A

Correct Answer

Marks

Read the passage and answer the questions below:

We are flying blind into a highly unknown future. The changes are going to affect every human being and every ecosystem on the
face of the earth and we have only a glimmer of what these changes will be. The atmosphere is supposed to do two things for us:
maintain a constant climate of oxygen, nitrogen and water vapour, and help maintain the radiation balance—for example by keeping
out

excessive ultraviolet. The unthinkable is that we are distorting this atmospheric balance. We are shifting the chemical balance so
that we have more poisons in the atmosphere—ozone and acid rain on the ground level—while we are also changing the thermal
climate of the earth through the greenhouse effect—and get this — simultaneously causing the destruction of our primary filter of
ultraviolet light. It is incredible.

The shift in chemical balance and the change in thermal climate are seen as the greatest threat to
the human beings

the ecosystems

the atmospheric balance
a constant climate

None of the above



32 Comprehension

Question Description

Correct Answer

Marks

Read the passage and answer the questions below:

We are flying blind into a highly unknown future. The changes are going to affect every human being and every ecosystem on the
face of the earth and we have only a glimmer of what these changes will be. The atmosphere is supposed to do two things for us:
maintain a constant climate of oxygen, nitrogen and water vapour, and help maintain the radiation balance—for example by keeping
out

excessive ultraviolet. The unthinkable is that we are distorting this atmospheric balance. We are shifting the chemical balance so
that we have more poisons in the atmosphere—ozone and acid rain on the ground level—while we are also changing the thermal
climate of the earth through the greenhouse effect—and get this — simultaneously causing the destruction of our primary filter of
ultraviolet light. It is incredible.

Identify from the options given below, the term used in the passage to mean “a community or group of living organisms who live

and interact with each other”.
atmosphere

ecosystem

earth

climate

None of the above



33 Comprehension

Question Description

A

Correct Answer

Marks

Read the passage and answer the questions below:

We are flying blind into a highly unknown future. The changes are going to affect every human being and every ecosystem on the
face of the earth and we have only a glimmer of what these changes will be. The atmosphere is supposed to do two things for us:
maintain a constant climate of oxygen, nitrogen and water vapour, and help maintain the radiation balance—for example by keeping
out

excessive ultraviolet. The unthinkable is that we are distorting this atmospheric balance. We are shifting the chemical balance so
that we have more poisons in the atmosphere—ozone and acid rain on the ground level—while we are also changing the thermal
climate of the earth through the greenhouse effect—and get this — simultaneously causing the destruction of our primary filter of
ultraviolet light. It is incredible.

The role of the atmosphere is mainly to help in
maintaining chemical and radiation balances
enhancing the greenhouse effect

altering the thermal climate

Option B and C

None of the above

A
1



34 Comprehension

Question Description

A

Correct Answer

Marks

Read the passage and answer the questions below:

We are flying blind into a highly unknown future. The changes are going to affect every human being and every ecosystem on the
face of the earth and we have only a glimmer of what these changes will be. The atmosphere is supposed to do two things for us:
maintain a constant climate of oxygen, nitrogen and water vapour, and help maintain the radiation balance—for example by keeping
out

excessive ultraviolet. The unthinkable is that we are distorting this atmospheric balance. We are shifting the chemical balance so
that we have more poisons in the atmosphere—ozone and acid rain on the ground level—while we are also changing the thermal
climate of the earth through the greenhouse effect—and get this — simultaneously causing the destruction of our primary filter of

ultraviolet light. It is incredible.

The meaning of the word “incredible” as used in the passage is
impossible

very difficult to believe

extremely good

all these

None of the above



35 Comprehension

Question Description

A

Correct Answer

Marks

Read the passage and answer the questions below:

We are flying blind into a highly unknown future. The changes are going to affect every human being and every ecosystem on the
face of the earth and we have only a glimmer of what these changes will be. The atmosphere is supposed to do two things for us:
maintain a constant climate of oxygen, nitrogen and water vapour, and help maintain the radiation balance—for example by keeping
out

excessive ultraviolet. The unthinkable is that we are distorting this atmospheric balance. We are shifting the chemical balance so
that we have more poisons in the atmosphere—ozone and acid rain on the ground level—while we are also changing the thermal
climate of the earth through the greenhouse effect—and get this — simultaneously causing the destruction of our primary filter of

ultraviolet light. It is incredible.

From the options provided below, identify the word or expression in the passage that implies venturing forth unmindfully.
thermal

distorting

causing destruction

flying blindly

None of the above



36 Comprehension

Question Description

A

Correct Answer

Marks

Read the passage and answer the questions below:

Like all real artists the short story writer holds up the mirror to Nature in all its complexity and diversity. Nothing is too small or

too big for the writer’s pen but all is grist to his mill. All that is expected of a good story is that it should read well, hold the attention
of the reader and leave a satisfying feeling at the end...Some of the finest short stories in English are written by American, English
and Indian authors. O’Henry’s ‘The Robe of Peace’ is a moving story in a deceptively casual style, about the transformation of a
young American dandy into a serene monk who has achieved peace. ‘The Miracle of Puran Bhagat’ is one of Rudyard Kipling’s
masterpieces which tells the story of an English-educated Dewan of a Princely state of North India, who renounces power and pelf
to become a Bhagat and who saves a whole village from a Himalayan landslide before he himself breathes his last.

Select from the passage the word or expression that implies something that can be used to advantage for one’s purpose

masterpiece

satisfying

grist

pelf

None of the above

Cc

1



37 Comprehension

Question Description

A

Correct Answer

Marks

Read the passage and answer the questions below:

Like all real artists the short story writer holds up the mirror to Nature in all its complexity and diversity. Nothing is too small or

too big for the writer’s pen but all is grist to his mill. All that is expected of a good story is that it should read well, hold the attention
of the reader and leave a satisfying feeling at the end...Some of the finest short stories in English are written by American, English
and Indian authors. O’Henry’s ‘The Robe of Peace’ is a moving story in a deceptively casual style, about the transformation of a
young American dandy into a serene monk who has achieved peace. ‘The Miracle of Puran Bhagat’ is one of Rudyard Kipling’s
masterpieces which tells the story of an English-educated Dewan of a Princely state of North India, who renounces power and pelf
to become a Bhagat and who saves a whole village from a Himalayan landslide before he himself breathes his last.

From the options provided below, identify the implied meaning of the phrase “deceptively casual” as mentioned in the passage
faked accidental

misleadingly informal

falsely unrestrained

mock natural

None of the above



38 Comprehension

Question Description

A

Correct Answer

Marks

Read the passage and answer the questions below:

Like all real artists the short story writer holds up the mirror to Nature in all its complexity and diversity. Nothing is too small or

too big for the writer’s pen but all is grist to his mill. All that is expected of a good story is that it should read well, hold the attention
of the reader and leave a satisfying feeling at the end...Some of the finest short stories in English are written by American, English
and Indian authors. O’Henry’s ‘The Robe of Peace’ is a moving story in a deceptively casual style, about the transformation of a
young American dandy into a serene monk who has achieved peace. ‘The Miracle of Puran Bhagat’ is one of Rudyard Kipling’s
masterpieces which tells the story of an English-educated Dewan of a Princely state of North India, who renounces power and pelf
to become a Bhagat and who saves a whole village from a Himalayan landslide before he himself breathes his last.

Identify the antonyms of “complexity and diversity” respectively, from the options given below:
simplicity and uniformity

similar and homogenous

simulated and identity

straight forwardness and consonance

None of the above

A
1



39 comprehension Read the passage and answer the questions below:
Like all real artists the short story writer holds up the mirror to Nature in all its complexity and diversity. Nothing is too small or
too big for the writer’s pen but all is grist to his mill. All that is expected of a good story is that it should read well, hold the attention
of the reader and leave a satisfying feeling at the end...Some of the finest short stories in English are written by American, English
and Indian authors. O’Henry’s ‘The Robe of Peace’ is a moving story in a deceptively casual style, about the transformation of a
young American dandy into a serene monk who has achieved peace. ‘The Miracle of Puran Bhagat’ is one of Rudyard Kipling’s
masterpieces which tells the story of an English-educated Dewan of a Princely state of North India, who renounces power and pelf
to become a Bhagat and who saves a whole village from a Himalayan landslide before he himself breathes his last.

Question Description “All that is expected of a good story is that it should read well, hold the attention of the reader and leave a satisfying feeling at the
end.”

Read the above statement carefully and identify from the options given below, the traits that are closely described in it.

A readable, enthralling, charming
B expectant, exhilarating, thrilling
c engaging, captivating, enjoyable
D legible, attentive, funny

E None of the above

Correct Answer C

Marks 1



40 Comprehension

Question Description

Correct Answer

Marks

Read the passage and answer the questions below:

Like all real artists the short story writer holds up the mirror to Nature in all its complexity and diversity. Nothing is too small or

too big for the writer’s pen but all is grist to his mill. All that is expected of a good story is that it should read well, hold the attention
of the reader and leave a satisfying feeling at the end...Some of the finest short stories in English are written by American, English
and Indian authors. O’Henry’s ‘The Robe of Peace’ is a moving story in a deceptively casual style, about the transformation of a
young American dandy into a serene monk who has achieved peace. ‘The Miracle of Puran Bhagat’ is one of Rudyard Kipling’s
masterpieces which tells the story of an English-educated Dewan of a Princely state of North India, who renounces power and pelf
to become a Bhagat and who saves a whole village from a Himalayan landslide before he himself breathes his last.

Identify from the options provided below, the implied meaning of the phrase “holds up the mirror to Nature in all its complexity

and diversity” as it is used in the passage
gives a verbatim picture of Nature at all times
faithfully resembles Nature’s vagaries
represents Nature’s complication

emulates nature in its intricate variety

None of the above



41 Question Description In which state is the first nuclear plant of North India going to be built?

A Bihar
B Jharkhand
c punjab
D Haryana
E None of the above
Correct Answer D
Marks 1

42 Question Description Who is the first Indian woman to win an Asian Games gold in 400m run?
A M.L.Valsamma
B P.T.Usha
c Kamaljit Sandhu
D K.Malleshwari
E None of the above
Correct Answer C

Marks 1



43 Question Description When is National Cereal Day celebrated?

A April 04
B February 04
c March 07
D January 04
E None of the above
Correct Answer C
Marks 1
44 Question Description In which state has the world's longest railway platform been inaugurated?
A Gujarat
B Maharashtra
c Karnataka
D Bihar
E None of the above
Correct Answer C

Marks 1



45 Question Description Where will the 38th National Games be organized in 20247

A Nagaland
B Uttarakhand
c Sikkim
D Kerala
E None of the above
Correct Answer B
Marks 1

46 Question Description Who has been appointed as the National Ambassador of the United Nations Children's Fund (UNICEF) India?
A Ranbir Kapoor
B Tiger Shroff
c Varun Dhawan
D Ayushmann Khurrana
E None of the above
Correct Answer D

Marks 1



47 Question Description Logarithm tables were invented by

A John Napier
B John Doe
c John Harrison
D John Douglas
E None of the above
Correct Answer A
Marks 1
48 Question Description Recently, in which state did the Anti-Copying law come into force?
A Sikkim
B Tripura
c Uttarakhand
D Telangana
E None of the above
Correct Answer C

Marks 1



49 Question Description In which city was the second Semicon India Future Design Roadshow recently launched?

A Chennai
B Lucknow
c Ajmer
D Bangalore
E None of the above
Correct Answer D
Marks 1
50 Question Description In which country did Mount Merapi volcano erupt, covering villages in ash?
A Oman
B Denmark
c Indonesia
D Egypt
E None of the above
Correct Answer C

Marks 1



51" Question Description Each of the questions given below consists of a question followed by three statements. You have to study the question
and the statements and decide which of the statement(s) is/are necessary to answer the question.
What is the speed of the boat in still water?
I. The speed downstream is 12 kmph.
II. The speed upstream is 4 kmph.
lll. In a to and fro journey between two points, the average speed of the boat was 6 kmph.

A I and Il only

B All L, 1l and 1l

c Ill, and either | or Il
D Any two of the three
E None of the above
Correct Answer D

Marks 1



52 Question Description Study the following questions carefully and choose the right answer:
Statement: The employees’ union of the Municipal Corporation has decided to strike work for indefinite period in protest
against the management’s refusal to grant bonus.

Courses of action:
I. The government should immediately pay ex-gratia grant to the Municipal Corporation to grant bonus to its employees.
II. The striking employees should be persuaded to defer the strike notice.

A Only | follows

B Only Il follows

c Either | or Il follows

D Neither | nor Il follows
E None of the above
Correct Answer B

Marks 1



53 Question Description Directions: Read the following information carefully and answer the questions given beside.

Eight persons from A to H sit around a circular table facing towards the center such that C is second to the left of E. A is
third to the right of the one who sits diagonally opposite to D. F sits opposite to the one who is on the immediate left of
B. Neither F nor G is adjacent to C. H sits second to the right of B.

What is the position of D with respect to A?

A Third to the right
B Immediate right
c Immediate left

D Second to the left
E None of the above
Correct Answer B

Marks 1



54 Question Description Directions: Read the following information carefully and answer the questions given beside.
Six children are playing Hide & Seek in a park and were standing at different positions such that P is 9 m towards the
north of T. Q is 4 m to the west of O, who is 12m to the east of T. U is 6 m to the south of Q. R is 3 m to the north of O.
Then few of them moved and their new positions are denoted by adding ( * ) to their respective names. P moved 5m
towards east. O moved 3 m towards the east. Q moved 5 m towards the north.

T is in which direction and how much far from O*?

A 12m, West

B 15m, East

C 10m, North-west
D 15m, West

E None of the above
Correct Answer D

Marks 1



55 Question Description Direction: In each of the following question, there is a certain relationship between two given pair on both side of "::' .
One word is given on another side of "::" while another word is to be found from the given options, having the same
relation with this word as the words of the given pair . Choose the correct word from the following options..

BFG:ElJ:: RVW:?

A uwy

B uyz

(o SWX

D Quv

E None of the above
Correct Answer B

Marks 1



56 Question Description Directions: Study the following information carefully and answer the questions given below:

Eight persons — Sarin, Rahi, Akasa, Pavi, Preet, Gunjan, Taran and Namya belong to a family which consists of three
generations and two married couples.

Preet is the sister of only son of Akasa. Pavi is the daughter in law of Sarin. Rahi is the mother of Akasa. Sarin is the
grandfather of Taran who is the daughter of Pavi. Namya is the maternal uncle of Gunjan.

How is Akasa’s son related to Taran’s grandfather?

A Brother in law

B Son

c Grandson

D Nephew

E None of the above
Correct Answer C

Marks 1



57

58

Question Description

A

Correct Answer

Marks

Question Description

A

Correct Answer

Marks

Given that there are 30 days in April, the ratio of rainy days to sunny days during the month of April could not be
5:3

3:2

5:1

4:1

None of the above

A
1

On 8th Feb, 2005 it was Tuesday. What was the day of the week on 8th Feb, 2004?
Tuesday

Monday

Sunday

Wednesday

None of the above

C
1



59 Question Description Directions : Study the following information carefully and answer the questions given beside.

Input: 781 vsskt 651 Itsk 486 deef 351 jkim 581 tuvw

Step 1: 351 781 vsskt 651 Itsk 486 jkim 581 tuvw deef

Step 2: 651 351 781 vsskt Itsk 486 581 tuvw deef jkim

Step 3: 581 651 351 781 vsskt 486 tuvw deef jkim Itsk

Step 4: 781 581 651 351 vsskt 486 deef jkim Itsk tuvw

Step 5: 486 781 581 651 351 deef jkim Itsk tuvw vsskt

Step 5 is the final step

As per the pattern followed in the above steps, find out for given input:
Input: 555 cat 651 dog 481 gold 231 modi 631 ruchi

If in step 4 ‘651’ is related to ‘231’ & ‘555’ is related to ‘cat’, then following the same pattern ‘631’ is related to

A ruchi

B 231

c 555

D cat

E None of the above
Correct Answer C

Marks 1



60 Question Description Direction: In each of the following question, there is a certain relationship between two given pair on both side of "::' .
One word is given on another side of "::" while another word is to be found from the given options, having the same
relation with this word as the words of the given pair . Choose the correct word from the following options.

83:25::29:7
A 44
B 49
c 40
D 63
E None of the above
Correct Answer B

Marks 1



61 Question Description

In the question, a piece of paper is folded and cut as shown below in the questions figures.
From the given option figures, which one indicates how it will appear when opened.

AT
/o
O
ol o
A A
B B
(o] C
D D
E None of the above
Correct Answer C

Marks 1



62 Question Description If the position of the first letter of English alphabet is interchanged with the position of the fourteenth letter second letter with the
fifteenth letter in such a way that M is interchanged with Z then which of the following letters will be 9th to the right of 17th letter
from the right ?

A F
B E
Cc R
D T
E None of the above
Correct Answer A

Marks 1



63 Question Description At what time between 4 and 5 o'clock will the hands of a watch point in opposite directions?

A 45 min. past 4
B 40 min. past 4
C

4
50ﬁ min. past4

D
6
54— min. past4
11
E None of the above
Correct Answer D

Marks 1



64 Question Description How many such pairs of letters are there in the word ‘APPREHENSION’ each of the which has as many letters between them in
the word as there are between them in the English alphabet?

A 4
B 5
c 6
D 7
E None of the above
Correct Answer A

Marks 1



65 Question Description Directions: Study the following questions carefully and choose the right answer:

Statement :

A sentence in the letter to the candidates called for written examinations —You have to bear your expenses on travel
etc.’

Assumptions :

. If not clarified, all the candidates may claim reimbursement of expenses.

[I. Many organisations reimburse expenses on travel to candidates called for written examinations.

A if only assumption | is implicit
B if only assumption Il is implicit
c if either | or Il is implicit

D if both I and II are implicit

E None of the above

Correct Answer D

Marks 1



66 Question Description Directions: In each question below are given some statements followed by some conclusions. You have to take
the given statements to be true even if they seem to be at variance with commonly known facts. Read all the
conclusions and then decide which of the given conclusions logically follows/follow from the given statements,
disregarding commonly known facts.

Statements:

All floors are buildings.

All doors are buildings.

Some buildings are not houses.
Conclusions:

I. Some floors are not doors.

[I. Some houses may not be buildings.

A If only conclusion | follow

B If only conclusion Il follow

c If neither conclusion | nor conclusion Il follows
D If both the conclusions follow

E None of the above

Correct Answer B

Marks 1



67 Question Description Find missing numbers?

38 54 61 |79

21 27 (12 24

19 (09 (14 2
A 18, 46
B 28, 51
c 42,62
D 18, 44
E None of the above
Correct Answer D

Marks 1



68 Question Description Which word in brackets is most opposite in meaning to the following word in capitals?

KNACK
A necessity
B surplus
c ineptitude
D facility
E None of the above
Correct Answer Cc

Marks 1



69 Question Description Directions : Each of the following consists of a question and two statements numbered | and Il given below it. You have
to decide whether the data provided in the statements are sufficient to answer the question.

Find Point D is in which direction from Point A?

Statement |: Point A is in the west of Point B, which is to the north-east of Point D. Point C is in the north of Point D and
Point A. Point A is in the middle of Point E and Point C.

Statement II: Point B is to the north of Point F, which is to the east of Point E. Point D is to the west of Point B. Point A
is to the north of Point E.

A If the data in statement | is sufficient to answer the question.

B If the data in statement Il is sufficient to answer the question.

c If the data in either statement | or statement Il is sufficient to answer the question.
D If the data in both statement | and statement Il is necessary to answer the question.
E None of the above

Correct Answer A

Marks 1



70" Question Description Directions: Read the following information carefully and answer the questions given beside.
In a certain code language,
Trip towards mountain hills is coded as “ju na mi po”
Rise hills towards river is coded as “gi mi ju ve”
River trip rafting mountain is coded as “po ve na fu”
Towards mountain slow rise is coded as “yb ju gi po”

Find the code for "slow rise"?

A gina

B yb ve

c yb gi

D Can't be determined
E None of the above
Correct Answer C

Marks 1



71" Question Description Each of the questions given below consists of a question followed by three statements. You have to study the question
and the statements and decide which of the statement(s) is/are necessary to answer the question.
What is the length of a running train P crossing another running train Q?
I. These two trains take 18 seconds to cross each other.
Il. These trains are running in opposite directions.
[ll. The length of the train Q is 180 metres.

A Il only

B [l only

C All 1, Il and Il are required

D Even with [, Il and Ill, the answer cannot be obtained.
E None of the above

Correct Answer D

Marks 1



72 Question Description Which Answer Figure will complete the pattern in the figure?

<] [
A A
B B
Cc C
D D
E None of the above
Correct Answer A

Marks 1



73 Question Description Directions: The questions are based upon the following six 3-letter words.
TRE POK OWL ARE SIN UTE

If all the letters are arranged as per alphabetical order (within the word) then how many letters (in the English alphabet
series) are between the middle letter of third word from right end and second word from left end?

A 5
B 8
Cc 0
D 9
E None of the above
Correct Answer D

Marks 1



74 Question Description Direction: In each of the following question, there is a certain relationship between two given pair on both side of "::' .
One word is given on another side of "::" while another word is to be found from the given options, having the same
relation with this word as the words of the given pair . Choose the correct word from the following options.

Foundation : Edifice : : Constitution : ?

A Government

B State

c Nation

D Cabinet

E None of the above
Correct Answer C

Marks 1



75 Question Description Choose the pair that best represents a similar relationship to the one expressed in the original pair of words.
CONVICTION : INCARCERATION

A reduction : diminution

B induction : amelioration

c radicalization : estimation

D marginalization : intimidation
E None of the above

Correct Answer A

Marks 1



